ORDER #003325



03/06/2023 09:00 AM | Install - Day 1 (Staging/Rails/Wall Graphics) 03/06/2023 09:00 AM | Install - Day 2 (Furniture/Wall Graphics) 03/06/2023 09:00 AM | Install - Day 3 (If needed) 03/13/2023 09:00 AM | Strike - Day 1 (Furniture) 03/13/2023 09:00 AM | Strike - Day 2

(Staging/Rails/All Else)

PO: SoFi - Billy Joel Setup Shipping Address: Sofi Stadium: 1001 Stadium Dr, Inglewood, CA 90301 Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

Order Date: February 23, 2023 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	ADA Lift	2	\$1,550.00	Т	\$3,100.00
	Pipe Legs - 1'H	480	\$2.50	Т	\$1,200.00
	Staging, Rental Extension	1	\$3,819.20	Т	\$3,819.20
			Total Gene	\$8,119.20	
Decals					
	Wall Graphic	1	\$790.50	Т	\$790.50
	Wall Graphic, Pillars 37.5 sf	2	\$225.00	Т	\$450.00
	Wall Graphic, 120 sf	1	\$720.00	Т	\$720.00
	Wall Graphic, 8' x 8' Outside of Bootsy Suite	1	\$448.00	Т	\$448.00
	Window Decal, 554 /sf	1	\$3,324.00	Т	\$3,324.00
			Total Decals		\$5,732.50
SoFi Social					
	Wilshire Sofa, 8ft	5	\$350.00	T	\$1,750.00
	Ava Sofa, Emerald Green 8ft	3	\$350.00	T	\$1,050.00
	Vida Coffee Table, Rectangle	8	\$110.00	Т	\$880.00
	Bench, Blush Pink	9	\$125.00	Т	\$1,125.00

Description		Qtty	Price		Total
	Celine Ottoman, Blush Pink	2	\$45.00	T	\$90.00
	Stage, 4' x 8' x 1'h	34	\$145.00	Т	\$4,930.00
	Stage, 2' x 8' x 1'h	3	\$95.00	Т	\$285.00
	Guard Rail, 4'	8	\$50.00	Т	\$400.00
	Guard Rail, 3'	4	\$45.00	Т	\$180.00
	Guard Rail, 2'	5	\$40.00	Т	\$200.00
	Black Carpet, 1410/sf	1	\$2,749.50	Т	\$2,749.50
			Total SoFi Social		\$13,639.50
1E-3, 1E-4, 1E-5					
	Stage, 4' x 8'	7	\$145.00	T	\$1,015.00
	Stage, 3' x 8' x 1'h	7	\$125.00	Т	\$875.00
	Stage, 2' x 4'	1	\$65.00	Т	\$65.00
	Stage, 2' x 3'	1	\$65.00	Т	\$65.00
	Guard Rail, 4'	7	\$50.00	Т	\$350.00
	Guard Rail, 3'	3	\$45.00	Т	\$135.00
	Guard Rail, 2'	4	\$40.00	Т	\$160.00
	Black Carpet, 58' x 7'	1	\$791.70	Т	\$791.70
	Black Linen, 120" Rnd For Existing High Boys	10	\$28.50	Т	\$285.00
			Total 1E-3, 1E-4, 1E-5		\$3,741.70
1E-6, 1E-7					
	Stage, 4' x 8'	4	\$145.00	Т	\$580.00
	Stage, 3' x 8'	4	\$125.00	Т	\$500.00
	Black Carpet, 32' x 7'	1	\$436.80	Т	\$436.80
	Guard Rail, 4'	5	\$50.00	Т	\$250.00
	Guard Rail, 2'	2	\$40.00	Т	\$80.00
			Total 1E-6, 1	E-7	\$1,846.80
Pechanga Club					
	Stage, 4' x 8' x 1'h	34	\$145.00	Т	\$4,930.00

Black Carpet, 1410/sf Olafur Sofa, Black Black Olafur Sectional - LAF, 8ft	3 4 5 1 2 3 3 1	\$95.00 \$50.00 \$45.00 \$40.00 \$2,749.50 \$350.00 \$550.00 \$45.00 \$30.00	T T T T T T T	\$180.00 \$200.00 \$2,749.50 \$700.00 \$1,650.00
Guard Rail, 3' Guard Rail, 2' Black Carpet, 1410/sf Olafur Sofa, Black Black Olafur Sectional - LAF, 8ft	1 5 1 2 3 3 1	\$45.00 \$40.00 \$2,749.50 \$350.00 \$550.00 \$45.00	T T T T	\$400.00 \$180.00 \$200.00 \$2,749.50 \$700.00 \$1,650.00 \$945.00
Guard Rail, 2' Black Carpet, 1410/sf Olafur Sofa, Black Black Olafur Sectional - LAF, 8ft	5 1 2 3 3 1	\$40.00 \$2,749.50 \$350.00 \$550.00 \$45.00	T T T T	\$200.00 \$2,749.50 \$700.00 \$1,650.00
Black Carpet, 1410/sf Olafur Sofa, Black Black Olafur Sectional - LAF, 8ft	1 2 3 3 1	\$2,749.50 \$350.00 \$550.00 \$45.00	T T T	\$2,749.50 \$700.00 \$1,650.00 \$1,650.00
Olafur Sofa, Black Black Olafur Sectional - LAF, 8ft	2 3 3 1	\$350.00 \$550.00 \$550.00 \$45.00	T T T	\$700.00 \$1,650.00 \$1,650.00
Black Olafur Sectional - LAF, 8ft	3 3 1	\$550.00 \$550.00 \$45.00	T T	\$1,650.00
	3 1 7	\$550.00 \$45.00	Т	\$1,650.00
	7	\$45.00		
Black Olafur Sectional - RAF, 8ft	7		Т	\$945.00
Ottoman, Black 2		\$30.00		
Parson Side Table, White	T-4-		Т	\$510.00
	iota	al Pechanga C	lub	\$14,104.50
1W-3, 1W-4, 1W-5				
Stage, 4' x 8' x 1'h	7	\$145.00	Т	\$1,015.00
Stage, 3' x 8' x 1'h	7	\$125.00	Т	\$875.00
Stage, 2' x 4' x 1'h	I	\$65.00	Т	\$65.00
Stage, 2' x 3' x 1'h	I	\$65.00	Т	\$65.00
Guard Rail, 4'	7	\$50.00	Т	\$350.00
Guard Rail, 3'	3	\$45.00	Т	\$135.00
Guard Rail, 2'	1	\$40.00	Т	\$160.00
Black Carpet, 58' x 7'	1	\$791.70	Т	\$791.70
	Total 1	W-3, 1W-4, 1\	N-5	\$3,456.70
1W-6, 1W-7				
Stage, 4' x 8' x 1'h	1	\$145.00	Т	\$580.00
Stage, 3' x 8' x 1'h	1	\$125.00	Т	\$500.00
Black Carpet, 7' x 32'	I	\$436.80	Т	\$436.80
Guard Rail, 4'	5	\$50.00	Т	\$250.00
Guard Rail, 2'	2	\$40.00	Т	\$80.00
	7	Total 1W-6, 1\	N-7	\$1,846.80
Services				

Description	Qtty	Price	Total
Trucking Fee	5	\$275.00	\$1,375.00
Install Fee (Day 1)	8	\$330.00	\$2,640.00
Install Fee (Day 2)	6	\$240.00	\$1,440.00
Install Fee (Day 3) - ** If Needed **	4	\$180.00	\$720.00
Strike Fee (Monday)	6	\$180.00	\$1,080.00
Strike Fee (Tuesday)	8	\$240.00	\$1,920.00
1.5% WC Fee	1	\$945.14	\$945.14

Notes Total Products: \$52,487.70

Total Labor/Services/Misc: \$10,120.14

Taxes: \$4,986.33

Discounts: (\$0.00)

Total: \$67,594.17 Payments: (\$0.00)

Balance: \$67,594.17